
Open Access Plus HSA Employee 44.60$     96.64$    1,159.68$    131.61$   285.16$     3,421.92$    102.37$   221.80$     2,661.60$    200.53$   434.49$     5,213.88$    
Employer
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[(1)-0.6 (,)-10.7 (7)-0.6 (8)-0.6 (2.)-10.7 (2)-0.6 (8)]TJ
-0.786 0 Td
[($)-0.6 ( )]TJ
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BT
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BT
-0.003 Tc 0.003 Tw 6.72 -0 0 6.72 491.2799 452.1602 Tm
[(1)-0.6 (,)-10.7 (3)-0.6 (8)-0.6 (6.)-10.7 (2)-0.6 (3)]TJ
-0.786 0 Td
[($)-0.6 ( )]TJ
0 Tc 0 Tw 0.839 0 Td
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/P <</MCID 443 >>BDC 
BT
-0.003 Tc 0.003 Tw 6.72 -0 0 6.72 530.9998 452.1602 Tm
[(1)-0.6 (6)-0.6 (,)-10.7 (6)-0.6 (34)-0.6 (.)-10.7 (7)-0.6 (6)]TJ
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[(1)-0.6 (,)-10.7 (4)-0.6 (1)-0.6 (3.)-10.7 (9)-0.6 (5)]TJ
-0.786 0 Td
[($)-0.6 ( )]TJ
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[($)-0.6 (2)-0.6 (,)-10.7 (2)-0.6 (49)-0.6 (.)-10.7 (6)-0.6 (6)]TJ
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Q
q
3.72 442.2 762.48 7.56 re
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-0.003 Tc 0.011 Tw 6.72 -0 0 6.72 4.68 426.6 Tm
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-0.003 Tc 0.003 Tw 6.72 -0 0 6.72 205.68 418.08 Tm
[(8)-0.6 (,)-10.7 (5)-0.6 (9)-0.6 (7.)-10.7 (4)-0.6 (0)]TJ
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[(O)-10.7 (p)0.8 (e)-0.6 (n)0.9 ( A)22.6 (c)-0.6 (c)-0.6 (e)-0.6 (s)-0.6 (s P)3.3 (l)-10.7 (u)0.8 (s)]TJ
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[(E)3.3 (m)-9.3 (p)-0.6 (l)22.6 (o)-0.6 (y)14.9 (e)-0.6 (e)]TJ
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/P <</MCID 681 >>BDC 
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6.72 -0 0 6.72 137.76 384 Tm
[(9)-0.6 (0)-0.6 (.)-10.7 (7)-0.6 (1)]TJ
0.011 Tw -1.679 0 Td
[($)-0.6 (    )]TJ
0 Tc 0 Tw ( )Tj
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/P <</MCID 684 >>BDC 
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-0.003 Tc 0.003 Tw 6.72 -0 0 6.72 167.64 384 Tm
[(1)-0.6 (9)-0.6 (6.)-10.8 (54)]TJ
-0.839 0 Td
[($)-0.6 ( )]TJ
0 Tc 0 Tw 0.839 0 Td
( )Tj
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EMC 
/P <</MCID 687 >>BDC 
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-0.003 Tc 0.003 Tw 6.72 -0 0 6.72 205.68 384 Tm
[(2)-0.6 (,)-10.7 (3)-0.6 (5)-0.6 (8.)-10.7 (4)-0.6 (8)]TJ
0.011 Tw -1.5 0 Td
[($)-0.6 (   )]TJ
0 Tc 0 Tw ( )Tj
ET
EMC 
/P <</MCID 694 >>BDC 
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-0.003 Tc 0.003 Tw 6.72 -0 0 6.72 290.76 383.9999 Tm
[(2)-0.6 (3)-0.6 (9.)-10.8 (71)]TJ
0.011 Tw -1.125 0 Td
[($)-0.6 (  )]TJ
0 Tc 0 Tw ( )Tj
ET
EMC 
/P <</MCID 697 >>BDC 
BT
-0.003 Tc 0.003 Tw 6.72 -0 0 6.72 329.64 383.9999 Tm
[(5)-0.6 (1)-0.6 (9.)-10.8 (38)]TJ
0.011 Tw -1.625 0 Td
[($)-0.6 (    )]TJ
0 Tc 0 Tw ( )Tj
ET
EMC 
/P <</MCID 700 >>BDC 
BT
-0.003 Tc 0.003 Tw 6.72 -0 0 6.72 367.6801 383.9999 Tm
[(6)-0.6 (,)-10.7 (2)-0.6 (3)-0.6 (2.)-10.7 (5)-0.6 (6)]TJ
0.011 Tw -1.5 0 Td
[($)-0.6 (   )]TJ
0 Tc 0 Tw ( )Tj
ET
EMC 
/P <</MCID 707 >>BDC 
BT
-0.003 Tc 0.003 Tw 6.72 -0 0 6.72 458.04 383.9999 Tm
[(1)-0.6 (8)-0.6 (6.)-10.8 (45)]TJ
0.011 Tw -1.125 0 Td
[($)-0.6 (  )]TJ
0 Tc 0 Tw ( )Tj
ET
EMC 
/P <</MCID 710 >>BDC 
BT
-0.003 Tc 0.003 Tw 6.72 -0 0 6.72 496.9201 383.9999 Tm
[(4)-0.6 (0)-0.6 (30 Td
[($))d0T
EMC 
/1d0T
2Pc
0T
2Pc
0T
2Pc
0T
2Pc
0T
2Pc
0T
2Pc
0T
2Pc
0D 697 >>BDC 
BT
-0.003 T0 Td
[($). Tw 6.72 -0 0 6.72 458.04 383.9999 Tm
[(1)-0.6 (8)-0.6 (6.)-10.8 (45)]TJ
0.011 T 6.720.6$    

337.70$   731.68$     8,780.16$    
Employer 730.53$  8,766.36$    1,566.50$  18,798.00$  1,218.38$  14,620.56$  1,817.74$  21,812.88$  

Deductible: Total 927.07$  11,124.84$  945.61$  2,085.88$  25,030.56$  2,127.60$  1,622.35$  19,468.20$  1,654.80$  2,549.42$  30,593.04$  $2,600.41
$300/$600

Assumes 26 Pay periods

KSC Safety Officers Medical Rates
75% - 100% Time Employees

Effective January 1, 2024
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